I_' RA I_' SOLID ROTARY HYDRAULIC CYLINDERS
hRAESVY>S — s

L-RAESEY  Air Connection
L-RC:3E/KE! Coolant Connection

(BUILT-IN CHECK VALVE)

135K > Dimensions

K B
10 M
N 5
| .75 2-PT3/8"
ARE || —J |

N\
28

L B:f712
: g
¥

L
=
% - (£# > Specifications BT /UNIT:mm
A E G
MODEL A B c D (h7) F (H8) :
/ SPEC.
L1020RA 105 20 135 100 80 30 21 M20x2.5P
L1225RA 125 25 160 130 110 35 25 M24x3P
L1530RA 150 30 190 130 110 45 32 M30x3.5P
L1020RC 105 20 135 100 80 30 21 M20x2.5P
L1225RC 125 25 160 130 110 35 25 M24x3P
L1530RC 150 30 190 130 110 45 32 M30x3.5P
o P P
')ASOSE% J K L M N max. min. Q
L1020RA 35 208 193.5 132 86 45 25 6-M10x1.5P
L1225RA 45 216 201.5 140 94 51 26 6-M12x1.75P
L1530RA 45 225 210.5 149 105 56 26 12-M12x1.75P
L1020RC 35 215.5 1771 132 86 45 25 6-M10x1.5P
L1225RC 45 223.5 185.1 140 94 51 26 6-M12x1.75P
L1530RC 45 232.5 194.1 149 105 56 26 12-M12x1.75P
2 5, EYhyZhO-5 BEOEH e 2k ROl BAREHES
MODEL R T Piston Stroke Max. Spged & cl)r:r;?t?a ! Re§ eage Maxé Pressure
/ SPEC. (mm) r.p.m (min”) (kg-m?) (2/min) kgficm (MPa)
L1020RA 137 178 20 6000 0.013 1.2 40 (3.9)
L1225RA 145 186 25 6000 0.023 1.2 40 (3.9)
L1530RA 154 195 30 5500 0.048 1.2 40 (3.9)
L1020RC 137 181.4 20 6000 0.013 1.2 40 (3.9)
L1225RC 145 189.4 25 6000 0.023 1.2 40 (3.9)
L1530RC 154 198.4 30 5500 0.048 1.2 40 (3.9)
e piéﬁfiﬁéma Mes Bt oo ERARBEAES SEARBEEFAES
MODEL 1) 2| Air connection Coolant connection
/ SPEC. R 51 Push Side Pull Side Max Pressure Mex. Pressure
Push Side Pull Side kgf  (kN) kgt (kN) kgf/cm? (MPa) kgf/cm? (MPa)
L1020RA 85 79 3100 (30.4) 3000 (29.4) 8 (0.8) - =
L1225RA 121 113 4400 (43.1) 4200 (41.2) 8 (0.8) == =
L1530RA 175 160 6300 (61.8) 6000 (58.8) 8 (0.8) = =
L1020RC 85 79 3100 (30.4) 3000 (29.4) == -- 10 (1.0)
L1225RC 121 113 4400 (43.1) 4200 (41.2) - == 10 (1.0)
L1530RC 175 160 6300 (61.8) 6000 (58.8) = = 10 (1.0)

B — o2 RIEZEEE—F 7 :30kgf/cm?(2.94MPa) $H:50°C * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C



